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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define orgin first

#define mx second

inline int read

int x=0,f=1;char c=getchar();

lisdigiti(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=200010;

int

n,first[maxn!,ce,A,deep/maxn|,dfs clock,pal20] maxn!,tag/ maxn<<2|,L[maxn]|,R
maxn|,pos/maxn],now ans,ans|/maxn/;
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PII almaxn<<2?];
LL final ans;
struct Edge

int u,v,next;

Edge

Edge(int 1,int 2,int 3):u( 1),v( 2),next( 3
e /maxn<<l];
void addEdge(int a,int b

el++ce|=Edge(a,b,first[al);firstlal=ce;
e[++ce/=Edge(b,a,first|b]);first|b/=ce;

void dfs(int now,int fa

LI now|=++dfs clock;
pos dfs clock!=now;
int i=firstinow|;i!=-1;i=e[1i].next
elil.v!=fa
deepleli].v|=deep|/now!+1,
pa elil.v/=now,

dfs(elil.v,now);

Rinow|=dfs clock;

int MAX(int x,int y deep[x|>deeply| 7 x : vy;
int jump(int now,int step

int tmp=0;
int i=0;step;i++

step&l)now=palil [ now!;
step>>=1;

now;

void build(int L,int R,int o

alo!=make pair(pos/L|,posiL]|);

’

int mid=L+R>>1,lo=0<<1,ro=l0]|1;
build(L,mid,lo);build(mid+1,R,ro);
alo].orgin=alo].mx=MAX(a[lo].mx,alro].mx);

void pushdown(int L,int R,int o

int lo=o0<<l,ro=lo|1;
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taglol==1)allo].mx=alro].mx=0;
allo].mx=allo].orgin,alrol.mx=alro].orgin;
tag/ lo/=tag/ro/=taglo];
tagio|=0;

void update(int L,int R,int o,int ql,int qr

==ql && R==qr
taglo|=1;
alol.mx=0;

’

tag/o! )pushdown(L,R,0);
int mid=L+R>>1,lo=0<<1,ro=l0]|1;
gr<=mid)update(L,mid,lo,ql,qr);
gl>mid)update(mid+1,R,ro,ql,qr);
update(L,mid,lo,ql,mid) ,update(mid+1,R, ro,mid+1,qr);
alo!.mx=MAX(allo].mx,alro!.mx);

int calc(int index

int cnt=0;
int x=a .MX;
Ix ;
int y=jump(x,index);
cnt++;

update(l,n,1,Lly],Rlyl);

tag/1/=2;a .Mmx=a .orgin;

int main

scanf("%d",&n) '=EOF

ce=-1;dfs clock=0;final ans=0;
int i=1;i<=n;i++)first|[i|=-1,deep/i|=0,ans|i|=n+1;
int i=1;i<n;i++)A=read(),addEdge(A,i+1);
deep|[1]/=1;dfs(1,0);pa =1;
int Log=1; (l<<Log)<=n;Log++

int i=1;i<=n;i++
pa/Log||i|=pallLog- palLog- ill;

build(1,n,1);
int i=n;i;i--)ans/calc(i) |=1i;
int i=2;i<=n;i++)ans|[il=min(ans[i-1],ans[i]);

int i=1;i<n;i++)final ans+=ans|/i];
printf("slld\n",final ans);
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-") f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N=400055;

int n,m,dep[N|,fa/N/,head/N|,nextt|[N|,to[N!,fIN|;
int mxd,tot,cnt,dfn[N],ans[N];

void add(int a,int b

to|++tot|=b;
nextt|tot|=head[al;
head|al|=tot;
void dfs(int u
dfn[++cnt]|=u;
int i=head|u]l;i;i=nextt|i

depltoli]/=deplul+1,dfs(to[i]);

void solve(int asl,int asr,int 1,int r

// cout<<asl<<" "<<asr<<" "<<l<<" "<<r<<endl;
asl=asr||l>r ;
l==r

int i=asl;i<=asr;i++
ans|[il=1;

’

int mid=asl+asr>>1;
ans | mid|=0;
int 1=0;i<=n;i++

https://wiki.cvbbacm.com/ Printed on 2025/08/28 16:26



2025/08/28 16:26 5/11 20200 0000000000000

flil=deplil];
int i=n;i;i--

int u=dfn[i];
flul==deplul+mid| |u==
++ans mid|,flul=-1;

fifalul l=max(fifalull,flul);

solve(asl,mid-1,ans[mid!,r);
solve(mid+1,asr,1l,ans mid] ) ;

int main
~scanf("%d",&n

int i=2;i<=n;i++
scanf("%d",&fali]l),add(falil,i);

dfs ;
int i=1;i<=n;i++
mxd=max (mxd,dep(i]);

solve(0O,mxd,1,n);

11 as=0;
int i=1;i<=mxd;i++
as+=111*i*(ans[i-1]-ans[i]);

printf("slld\n",as);
cnt=tot=mxd=0;
int i=1;i<=n;i++
head|i]|=0;

B.Basic Gcd Problem

HEN

ugd

C.Count New String

HEN
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<stack>
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N=2000055;

int n,m,ch[N/[26],alN!,c[N/,pos|N]|;
int last,tot,link[N!,len[N],size[N];
char s[N];

void init

last=tot=0;1len[0]1=0;link[0]=-1;
void extend(int c

int cur=++tot,p=Llast;len/cur/=lenlast|+1;sizelcur|=1;
ipl=-1&&!ch|plic!;p=link|p chiplicli=cur;
p==-1) link|[cur|=0;

int qgq=ch[p]llc];
len[p/+l==lenlq!) link|[cur!=q;

int clone=++tot;

len[clonel=len|pl|+1;

link|clone|=link[q]l;

memcpy (chlclonel,ch[ql,sizeof(chlq ;
;p!=-1&&ch|plcl==q;p=link|p
chiplicli=clone;

link|/g!=clone;link|cur/=clone;
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last=cur;

stack<int> st;
int main

scanf("%s",s);

n=strlen(s);
init();
pos|n|=0;

int i=n-1;i>=0;1i--

Ist.empty()&&s[st.top()I<s[i]) st.pop();

int k;

st.empty k=n;

k=st.top();

last=pos k] ;

int j=i;j<k;j++

extend(s/il-'a');
pos | i/=last;
st.push(i);

11 ans=0;
int i=1;i<=tot;i++
ans+=len[i]-len[link[i]];
printf("slld\n",ans);
0;

F.Finding the Order

ug

oo UUUU U
HEN
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

CVBB ACM Team - https://wiki.cvbbacm.com/



Last
update:
2020/07/24
23:38

2020-2021:teams:die_java:front_page_summertrain4 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:die_java:front_page_summertrain4&rev=1595605110

int x=0,f=1;char c=getchar();

lisdigiti(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

int T,a,b,c,d;
int main

T=read();
T--

a=read();b=read();c=read();d=read();

a<c
b>=d
puts("AB//CD");
c>d
puts("AB//CD");
puts("AB//DC");
a>c
b<=d
puts("AB//DC");
a>b
puts("AB//DC");
puts("AB//CD");
b>d

puts("AB//CD");
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puts("AB//DC");

/*

*/

H.Harder Gcd Problem

HEN
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<vector>
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar
;'isdigit(c);c=getchar
;isdigit(c);c=getchar

const int N=200055;
vector<int> v[N];

.
’

C::'-I f:-]_;
k=k*10+c-'0";

int T,n,m,tot,sum/N],vis|[N],ans1[N],ans2[N];

int main
T=read();T;T--
tot=0;int suml=0;

n=read();m=n/2;
int i=2;i<=n;i++

int j=i+i;j<=n;j+=1i
v[jl.push back(i);

k*f;

ggbobooooboooboboooboboobobooobbooooo
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int i=n;i>1;1i--
// for(int i=m+1;i<=n;i++)
1&1&&'vis i

int fl1=0;
int j=v[i].size()-1;j>=0;j--
lvis{v[i]]] &&(v[il[jl&l

ansl/++toti=v[il[j];
ans2/tot|=1i;
vis|il=vis|v[il|[j]]=1;
fl=1;

If1&&v [i].size () 1=0

// suml++;
// cout<<i<<endl;
// cout<<v[i][0]<<endl;
int j=0;j<v[i].size();j++
lvis{i-viil[]

ansl/++toti/=i-v[il[j];
ans2|/tot]=1i;
vis[i|=vis|[i-viil[j]]|=1;
fl=1; ;

If1) suml++;

// cout<<suml<<endl;
int i=2;i<=m;i++
i&1)&&!vis i
int j=2;i*j<=n;j+=2
lvis[i*j

ansl|[++tot|=1i;
ans2/tot|=1i*j;
vis|i|=vis|i*j|=1;

int fl1=0,pre=0;
int i=2;i<=n;i+=2
lvis|[i

'fl) fl=1,pre=i;

ansl|++tot|=pre;
ans2[tot|=1i;
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int i=1;i<=n;i++

vis[i]=0,v[i].clear();
printf("%sd\n",tot);

int i=1;i<=tot;i++

printf("%sd %d\n",ansl[i|,ans2[1i]);
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